log AL luminance difference 2
95 threshold Lg=630cd/nf

- X y
A 034 040 yan g p-A3-fit

1Y 045 047 p

DO0,1sY
015 0,19 3 aneats ,
0,58 0,32 3

F 0,25 0,44




log AL luminance difference | _
threshold Lg=63cdinf
. X y
A 034 040 a1 g p-A3-it
1 Y 045 0,47 AD 0,15 Y
015 019 3 enoars

0,58 0,32

[ 0,25




log AL luminance difference o
- threshold Lg=6.3cdinf

. X y

A 034 040 yaa & P-A3fit
1Y o045 047 Ap%0cy

US> @IS 3 repeats

0,58 0,32

F 0,25 0,44




log L/AL luminance contrast 0
sensitivity threshold Lg=630cd/?

2T

17T data & P-A3-fit
ADO0,1s Y

0+ 3repeats




log L/AL luminance contrast | _
sensitivity threshold Lg=63cd/?

2T

1T data & P-A3-fit
ADO0,1s Y

0+ 3repeats




log L/AL luminance contrast , _
sensitivity threshold Lge6.3cdin?

2T

1T data & P-A3-fit Xy

AD0,1s Y A 03" 0,40
ot 3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL




L/AL luminance contrast
sensitivity threshold

0T X VY .
A 034 040 yarg g P-A3-fit

| Y 0,45 0,47 AD0,1s Y

0,15 0,19

3 repeats
0,58 0,32
20T © 025

Lg=630cd/n?

301

101

0 .
=g =2




L/AL luminance contrast
sensitivity threshold

40T X \

A 034 040 a5 g p-A3-it

304 ¥ 045 047 Apgasy

0,15 0,19

: ! 3 repeats *
0,58 0,32 FEENS
20T © 025

Lg=63cd/nf

N

101

0
-3




L/AL luminance contrast
sensitivity threshold
40T X \
A 0,34 0,40
| Y 045 047
0,15 0,19
0,58 0,32
20T © 025 0,44

Lg=6.3cdinf

data & P—A3-fit
AD 0,1s Y
3 repeats

301

101

0 .
=5 =2




